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Read all of the following information before starting the exam:

]

Q

You have 50 minutes to complete the exam.

Show all work, clearly and in order, if you want to get full credit. Please make sure you read the
directions for each problem. I reserve the right to take off points if I cannot see how you arrived at
your answer (even if your final answer is correct).

Please | box/circle | or otherwise indicate your final answers.

Please keep your written answers brief; be clear and to the point. I will take points off for rambling
and for incorrect or irrelevant statements. ‘ '

This test has 8 problems and is worth 100 points. It is ‘your responsibility to make sure that you
have all of the pages!

Good luck!



1. Evaluate 5z)d 1 ‘:- . \
/a;sm( 117) T \ (

wWe x dv = sin (5x)
({ dw = | v= "-sl, eos (6x)

= "-525 cos(5xY — S‘("%cas(({x\\dx

= -Jé cos (8%) + lS‘ S' cos (5x) d¥x

:\‘_’fcos (&) + L sw(sx) + Cj
S

I

N = dx= _c_l_ﬁ'_
{5‘_”‘2%..,.—_; %‘Z: 2x = 2x

~datGdx ~ (X . de
t 2k |
R AT0) = Wl HC

=\r>< Fac (A =L | x|+ C

-

S0 ~ 104 ar =

3. Evaluate / cos?(3z) sin” (3x)dz.
W (3 K\ 0l x

‘ , 2, 1a\3 g
J‘Cosz(sﬂ s 83 S (3dolx = (eos ( ;a(s:\n &)
= _dw

. ‘N 3.
‘ i Ax =
= f('°5z(3’<3 (I - gpsz@)} s (3;0 M —_.2Zsm (3x) = dx "B (3%)

‘(‘ W= (03 (3>‘3 =2 Ax

Y 8 W -u)® el
5 - (l-“z)(l_zqz+u“)

24
2y (-
( Q’“z)(l’% Xt M :(l—zu’+u“-u‘+1uq-u‘l

: 4 <=L Ctu-3
2\7 2 -« 7 q s F g



/
7
;

/

// /

1
4. Evaluate /*dw
v z2/22 + 25

r X= 5+M6
a{_ﬁ_{saz@ = dx= 55&29610 _
" {Ts(mibrn = V25 3ec?®
Vrzs = Gemoyres = =4/ 7 ZS'-k«anr 2 (4.. "z e

(SHa®

j 1 ssectedb

wrdu = Alwl re =3[
a1 / \r’Te\
b 7

hp BETR - =1t ( S5t X2 > '
4dr —'1 2 e
5. Evaluate/mdx . o
Ux-\ Yyt . A LB
xT43x—10 S (XQ.S‘}()(’L\ x+< X'L

0

+

A(x-2)+ B (W"g\
Alez)+ BN
(nx*r%ﬂ()vz\

‘Mx -\ = Ax-2A 48x +<8B
Hx =1 = (A+Bdx -2A+SB
S Y= A+ ~| = -2A+SB
A-y-g — 1= “2(4-R)FSB
“1=-§+2181<8
=33

-\ & Rr=1

A =y
A =3 . T

Y

giuq o\x:g(i U 4 s.\g\u\xw\ Jr,i\vl\x-z\é\—ﬁ_‘l

7&«3;&‘—,\0 Xt g X-Z




sl + (0$20 =
A0+ \ =

6. Evaluate / sec®(2z) tan®(2z)dz.
Sot

g sec® (1) sec () 4«’5(2x3 oix

Ssec (Zx\ w"(zx\ﬂ} 41« * () JX.

Czset(1x)

[ w= Fan(2x) 'Dﬁt’k‘ =2sec (ZX\
’ = fx = ke
)
1
z
A
z

1 m,"(zx\’f;%"(zx\ 4 4-«"(2,3]_,,(
A 3

ial long division to evaluate

X 242,21+ T% + 2.7

X -3\t 8
— (<-3x3) ¥
S 3x
- (37« ~-x )
1E+%
—(4x-27%)
2%~ + €
— (2% —6\)
| g1 |

se* 9

oL 2 !
5//

>S€C

"(z;& 4%7@;«3 dan (250 C (ZQ oba

S” éé tﬁii- ( sec2) - D Jon (T) 80 [\l

[

“ . (7,0)%(7/79\
w= sec (27) = %s‘é_;@vscc
‘ = ch’ _________,/
zsec( YA (2 %)

r_,_J' s(u ,,)o[w‘ lSu S dae

I

Cb«\},il

. -
%2 ¥3xt +ax +27 +;:—3— >

Zi}x -+ 8‘! ln \X'S\ +C

—

» 1% 184 -3\ QJ

8. Write out the FORM of the partial.fraction decomposition for the following (DO NOT find the

numerical values for the unknown coefficients).

22 -3z +10

-k e ¢
(2) z3(z — 4)(z + 3)? ? X -;7: 4 -;,5 &
20-20  2x=% _ A B
23 F4x =15 p2,Eyix-1S

<
A

T )rF

e

7('\’?) (7(*3 }

TR e -\

© 2@ @@ T

= f‘_ +B 4 S
Xtz ()

¥ -1

(x-S (D y (<-2) O‘ N

D

N

C(ex )Y x23OM A\

= A
c . 4—__‘:}._’\:‘_‘1—'\' “,><_L_
T RE A L *‘\\L



